TEST SERIES - ONE




TS1/1

* Of the following words in the Preamble of the Constitution of
India, which was not inserted through the 42" Constitution
Amendment Act, 19767

A) Socialist
B) Secular

C) Fraternity

D) Integrity




TS1/2

» What was the basis for constituting the Constituent Assembly
of India?

A) The Resolution of the Indian National Congress

B) The Cabinet Mission Plan, 1946
C) The Government of India Act, 1935

D) The Indian Independence Act, 1947




TS1/3

* The maximum biological damage is produced by which of the
following rays?

A) X-Rays
B) Beta-Rays

C) Gamma Rays

D) Alpha Rays




TS1/4

» ‘Kyoto Protocol’ an agreement signed by various countries is
associated with:

A) International Trade

B) Deep sea oil and Mineral Exploration

C) Clean Environment & Climate Change

D) Ensuring Food Security for All




TS1/5

* The term ‘Green Revolution’ was coined by:

A) William Gaud
B) Charles Elton
C) Eugene Odem

D) M S Swaminathan




TS1/6

* One of the best solutions to get rid of non-biodegradable
wastes is

A) Burying 10 meter deep

B) Burning
C) Dumping in deep seabed

D) Recycling




TS1/7

* Identifying the correct statement with respect to Bio-gas

A) Mixture of gases from volcanoes
B) Gas produced by fermentation of bio-mass
C) Gas coming out of oil-well

D) Gas produced by incomplete combustion of bio-mass




TS1/8

e In which unit sound is measured

A) Pascal

B) Bar
C) Decibel

D) Hertz




TS1/9

» At what decibel instantaneous rupture of ear membrane may
happen?

A) 100
B) 120

C) 130

D) 150




TS1/10

e Taklamakan Desert is situated in

A) Western Asia

B) Southern fringe of Sahara in Africa

C) South America

D) Central Asia




TS1/11

* Polynucleotide chain of DNA contains

A) a nitrogenous base, deoxyribose sugar and phosphate group

B) a nitrogenous base, ribose sugar and phosphate group
C) deoxyribose sugar, ribose sugar and phosphate group

D) a nitrogen base and phosphate group




TS1/12

* The process of copying genetic information from one strand of
DNA into RNA is termed as:

A) Translation

B) Transcription

C) Replication

D) Mutation




TS1/13

 AIDS is caused by the Human Immuno-deficiency Virus (HIV).
The transmission of HIV infection generally occurs through

A) eating contaminated meat
B) transfusion of contaminated blood
C) in hailing of micro-particles in polluted air

D) shaking hand or kissing infected person




TS1/14

* Arrange the following Indian cities according to their locations
from west to east:

1. Bilaspur
2.Jodhpur
3. Bhopal
4. Ranchi

Select the correct answer using the code given below:

A) 3-2-1-4
B) 2-3-1-4
C) 4-1-2-3
D) 2-1-3-4




TS1/15

* The Kashmir region receives additional amount of precipitation
during the winter brought by

A) South-west Monsoon
B) Western Disturbances
C) Retreating Monsoon

D) Temperate Climate




TS1/16

» Which part of India has the Kalakot tertiary coal field?

A) Brahmaputra river basin of Assam

B) Damodar river basin of Jharkhand and West-Bengal

C) Himalayan mountain region

D) Cardamom hills ion Kerala




TS1/17

* Melanin is the natural pigment that gives colour to human skin,
hair and the iris. It provides protection against

A) Ultraviolet radiation

B) Infrared radiation

C) X-Ray radiation

D) Short wave radio radiation




TS1/18

* In a vacuum, a five rupee coin, a feather of a sparrow bird and a
mango dropped simultaneously from the same height.
The time taken by them to reach the bottom is ti, t2, t3,
respectively. In this situation, we will observe;

A) t1> t2> t3

B) ti>t3> t2

C) t3> t1 > t2

D) ti= t2 = t3




TS1/19

* Electron emission from a metallic surface by application of light
is known as

A) Thermionic emission

B) Photoelectric emission

C) High field emission

D) Autoelectronic emission




TS1/20

* How long does light take to reach the Earth from the Sun?

A) About 4 minutes
B) About 8 minutes

C) about 24 minutes

D) Few seconds only




TS1/21

 Radioactivity is measured by

A) GM Counter
B) Polarimeter
C) Calorimeter

D) Colorimeter




TS1/22

* When pure water boils vigorously, the bubbles that rise to the
surface are composed primarily of

A) air

B) Hydrogen

C) Hydrogen and Oxygen

D) Water vapour




TS1/23

* Who among the following can attend the meetings of
both Houses of Parliament while NOT being a member of
either House?

A) The Solicitor General of India

B) The Vice-President of India

C) The Comptroller and Auditor General of India

D) The Attorney General Of India




TS1/24

* Concave mirror is used in headlights of vehicles, because it

A) focuses light from the bulb onto nearby vehicles

B) sends parallel rays

C) Fits well into the shape of the headlight

D) is cheaper than other mirrors




TS1/25

* If some object is weighed when submerged in water, what will
happen to its weight compared to its weight in air?

A) Increase
B) Decrease

C) Remain exactly the same

D) Increase or decrease can not be predicted




TS1/26
* Light Year is a measure of
A) time

B) Distance

C) Total amount of light falling on the Earth in a year

D) Average intensity of light falling on the Earth in a year




TS1/27
* Zinc is used to protect iron from corrosion because zinc is
A) more electropositive than iron

B) cheaper than iron

C) a bluish white metal

D) a good conductor of heat and electricity

22/05/2021




TS1/28

* Which of the following statements about magnetite ore of iron
is/are correct?

1. it is known as black ore
2. It contains 60-70% of pure iron
3. It possesses magnetic properties

Select the correct answer using the codes given below:

A) 10nly

B) 2 and 3 only

C) 1and 3 only

D) 1,2 and 3




TS1/29

* Which one of the following travelogues has given an insight on
the reign of Muhammad Bin Tughlaq?

A) Ibn Battuta’s Rihla

B) Francois Bernier Travels in the Mogul Empire

C) Niccolao Manucci’s Storia do Mogor

D) Tavernier’s Travels in India




TS1/30

* Which one of the following was NOT a Chishti Sufi saint?

A) Khwaja Moinuddin

B) Baba Fariduddin Ganj-i-Shakar
C) Nizamuddin Auliya

D) Shaikh Bahauddin Zakariya




TS1/31

* Which one of the following statements is NOT correct?

A) Ultrasonic waves can not get reflected, refracted or absorbed

B) Ultrasonic waves are used to detect the presence of defects
like cracks, porosity, etc. in the internal structure of common
structure materials

C) Ultrasonic waves can be used for making holes in very hard
materials like diamond

D) Ultrasonic waves can not travel through vacuum

22/05/2021




TS1/32

e Ashoka’s connection with Buddhism is evident from which one
of the following edicts?

A) Major Rock Efict 13

B) Rock Edict 6
C) Minor Rock Edict 1

D) Pillar Edict 4




TS1/33

* The Cabinet Mission Plan for India envisaged

A) Federation
B) Confederation
C) Unitary form of Government

D) Union of States




TS1/34

* Sunrise in eastern Arunachal Pradesh would be about how
many hours before the Sunrise in Western Gujarat?

A) one hour
B) Two hours

C) Three hours

D) Four hours




TS1/35

* Consider the following statements about the Nagara style of
temple architecture:

1. This style of temples are commonly found in the areas
between Himalayas and Vindhyas

2. The most striking feature of this style is pyramidal shikhara

Which of the statements given above is/are correct?
A) 10only

B) 2 only

C) Both1and 2

D) Neither 1 nor 2




TS1/36

* Which one of the following waves does not belong to the
category of the other three?

A) X-Ray

B) Microwaves

C) Radio waves

D) Sound waves




TS1/37

* Which one of the following statements is not correct?

A) Human eye is a refracting system containing a diverging lens

B) The retina of the human eye contains millions of light

sensitive cells, called rods and cones, which convert the light
into electrical messages

C) Every image that is focused on the retina is upside down

D) We need both eyes to judge relative positions of objects
accurately




TS1/38

* Which one of the following is NOT an igneous rock?

A) Gabbro
B) Granite
C) Dolomite

D) Basalt




TS1/39

* The Coriolis effect is the result of

A) Pressure gradient

B) Earth’s axis of inclination
C) Earth’s rotation

D) Earth’s revolution




TS1/40

* In the Mesopotamian records, which one of the following terms
was used for the Indus Valley (Harappans)?

A) Dilmun
B) Meluha
C) Magan

D) Failaka




TS1/41

* Who among the following was the Chairman of the
Interdisciplinary Committee constituted recently by the
Government of India to examine framework for virtual
currencies

A) Secretary Department of Financial Services

B) Special Secretary, Department of Revenue
C) Special Secretary, Department of Economic Affairs

D) Deputy Governor, Reserve Bank of India




TS1/42

* SAMPADA scheme is being implemented by the Ministry of

A) Finance
B) Housing and Urban Affairs

C) Food Processing Industries

D) Earth Science




TS1/43

* The shortest day length that occurs in the Northern
hemisphere is on

A) 215t March

B) 23" September

C) 22" November

D) 227 December




TS1/44

* The Indian Railways have gone in for qualitative improvements
since independence. Which of the following have taken place in

recent years?

1. Gauge Conversion
2. Track Electrification
3. Automatic Signals

Select the correct answer using the codes given below

A) 1and 2 only
B) 2 and 3 only
C) 1and 3 only

D) 1,2 and 3




TS1/45
* In India , maximum amount of rainfall is received from
A) Western Disturbances

B) North-east Monsoon

C) South-west Monsoon

D) Retreating Monsoon




TS1/46

* Which set of the following biosphere reserves in India is
included in the World Network of Biosphere Reserves?

A) Gulf of Mannar, Nokrek, Pancmarhi and Simplipal

B) Gulf of Mannar, Kanchanjunga, Nokrek and Seshachalam
C) Nilgiri, Nokrek, Panchmarhi, Panna

D) Nilgiri, Nokrek, Panchmarhi and Seshachalam




TS1/47

* Which one of the following statements relating to cultural and
educational rights in India is NOT correct?

A) Every section of the citizens has the right to conserve its
language, script or culture

B) No citizen shall be denid admission into any educational
institution maintained by the State or receiving aid out of State
funds on grounds of religion, race or language

C) The State shall in granting aid to educational institutions,
discriminate against any educational institution on the ground
that it is under the management of a majority community

D) All minorities, whether based on religion or language, shall
have the right to establish and administer educational
institutions of their choice




TS1/48

* Which one of the following statements relating to the Directive
Principles of State Policy is NOT correct?

A) The provisions contained in Part IV of the Constitution of
India shall not be enforceable by Court

B) The Directive Principles of State Policy are fundamental in
the governance of the country

C) It shall be the duty of the State to apply the Directive
Principles in making laws

D) The Directive Principles are directed in making India an
advanced capitalist country of the world.




TS1/49

* Which one of the following statements is NOT correct
regarding the Office of the Vice President of India?

A) The Vice President is elected by an electoral college
consisting of the elected members of both the Houses of the

Parliament

B) The Vice President is elected in accordance with the system

of proportional representation by means of single transferable
vote

C) The Vice President shall not be a member of either House of
the Parliament or of a House of the Legislative of any State

D) The Vice President of India shall be ex officio Chairman of
the Council of States and shall not hold any office of profit




TS1/50

* Which one of the following constitutional authorities inquires
and decides in case of doubts and disputes arising out of
election of the President and Vice President of India?

A) The Supreme Court of India

B) the Election Commission of India

C) The Parliamentary Committee

D) The High Court of Delhi




TS1/51

* Which one of the following ports is located on estuary?

A) Kandala
B) Marmagao
C) Kolkata-Haldia

D) Tuticorin




TS1/52

* Which one of the following statements si NOT correct?

A) Pavo cristatus is the national bird of India
B) Nelumbo nucifera is the national flower of India
C) Ficus benghalensis is the national tree of India

D) Mangifera indica is the national animal of India




TS1/53

* Which one of the following statements is not correct in respect

of the South Asian Association for Regional Cooperation
(SAARC)

A) Its Headquarter is located in Kathmandu

B) China is the only country with an observer status in SAARC

C) The First SAARC Summit was held in Dhaka

D) India is the founding member of SAARC




TS1/54

* Which of the following statements about Ilbert Bill (1883) is/are
correct.

1. It proposed to grant limited criminal jurisdiction to native
officials

2. It proposed to grant complete civil and criminal jurisdiction
to native officials

3. The proposed Bill generated opposition from England’s
European subjects in India

4. In spite of opposition to the Bill it was passed without any
modifications

Select the correct answer using the code given below

A)1and 2 B) 2 only
C)i1and3only D)3and4




TS1/55

* Consider the following statements about the different
meanings of ‘Swaraj’ as articulated by Mahatma Gandhi

1. Swaraj is intimately linked with Ahinsa (Non-voilance) and
Satyagraha (adherence to truth)

2. Swaraj has two senses- one political and one beyondthe
realm of politics

3. Swaraj is something that requires time and patience to
acquire

4. With determination Swaraj could be obtained easily and
quickly.

Which of the statements given above is/are correct

A) 10nly B) 1and 2 only
C) 3and 4 D) 1,2 and 3




TS1/56

* What was/were the formative influence on the philosophy of
Mahatma Gandhi

1.Gandhiji was influenced by the 18t century Pranami sect that
advocated the unity of faiths
2.Gandhiji was influenced by the theosophists

3. Gandhiji was an admirer of the writings of Romantics like
Wordsworth

Select the correct answer using the code given below:

A)1and 2 only
B) 2 and 3 only
C)1,2and 3

D) 1 only




TS1/57

* Which of the following statements about the Shiromani
Gurdwara Prabhandhak Committee (SGPC) are correct?

1. It began as the political wing of the Singh Sabhas an the late
19th century

2. [t was formed in 1920 as part of the upcoming Akali
movement

3. It was founded to reclaim control of Sikh Shrines from the
government manipulated loyalist committee

4. It formed the Akali Dal to coordinate groups (Jathas) to
retain control of shrines

Select the correct answer using the code given below

A)1,3and 4

B) 2,3and 4

C) 2 & 4 only
D) 2 and 3 only




TS1/58

* Which of the following statements with regards to the speech
of Mahatma Gandhi at the opening of the Banaras Hindu
University are correct?

1. He charged the Indian elite with a lack of concern for the
laboring poor

2. He asserted that our Salvation can come only through the
farmers

3. He highlighted the plight of the untouchables

4. He promised to take up the cause of the mill owners of

Ahmedabad

Select the correct answer using the code given below:

A)1,2,3and 4
B) 1and 2 only
C)1,2and 3

D) 3and 4 only




TS1/59

* To be eligible to contest election under the Haryana Panchayati
Raj (Amendment) Act 2015, a candidate should

1. have a functional toilet at home

2. have payment slips of power bill

3. not to be a cooperative loan defaulter

4. have studied minimum matriculation irrespective of category

Select the correct answer using the code given below

A) 1,2 and 3 only
B) 1,2 and 4 only
C)1,2,3and 4

D) 3and 4 only




TS1/60

* Arrange the following Commissions chronologically on the
basis of their date of Setting:

1. The Second Administrative Reforms Commission
2. The Eleventh Finanace Commission

3. Punchhi Commission

4. Sarkaria Commission

Select the correct answer using the code given below:

A) 4213
B)4321
C)3241
D)3412




TS1/61

* Who among the following won a Gold medal for India in Men'’s
Javelin Throw event at the 2016 Rio Paralympic Games?

A)Rinku Hooda

B) Devendra Jhajaria

C) Sunder Singh Gurjar

D) Mariyappan Thangavelu




TS1/62

* Which of the following statements with regard to Panchayats in
India are correct?

1. Seats in Panchayats are filled by direct election from the
territorial constituencies in the Panchayat area

2. The Gram Sabha is the body of persons registered in the
electoral rolls relating to a village within the Panchayat area

3. The Panchayats work on the principle of constitutional
autonomy

4. The State Legislature may by law endow the Panchayats with
the power and authority to enable them to function

Select the correct answer using the code given below

A)1,2and 3
B) 2,3and 4
C)1,2and 4
D) 1and 4 only




TS1/63

* Which of the following statements regarding Indian Federal
System is /are correct?

1. All States have equal representation in the Rajya Sabha
2. Consent of States is not required for altering its boundaries
3. There is no dual citizenship in India

Select the correct answer using the code given below

A)1,2and 3

B) 2 and 3 only
C) 1and 3 only
D) 2 only




TS1/64

* Which of the following are the powers of the Supreme Court of
India?

1. Original Jurisdiction in a dispute between the GOI and one or
more States

2. The power to hear appeals from the High Courts

3. Passing decrees and orders for doing justice in any matter
before it

4. Render advise to the President of India in matters of Law

Select the correct answer using the code given below:

A)1,2,3and 4

B) 1,2 and 3 only
C)1and 2

D) 3and 4 only




TS1/65

* Which one of the following is not a component of Revenue
Receipts of the Union Government?

A) Corporate tax receipts

B) Dividends and Profits

C) Disinvestment receipts

D) Interest receipts




TS1/66

* TRIPS agreement pertains to:

A) International Tariff regime

B) Intellectual property Protection
C) International practices on trade facilities

D) International taxation of property




TS1/67

* Which of the following statements about the Trans-Pacific
Partnership (TPP) is /are correct
1. The TPP was signed by 12 Pacific Rim nations in the year 2015
2. The TPP is likely to be a game changer in global trade as
member countries account for about 40% of global GDP
3. India is a founder member of TPP

Select the correct answer using the code given below:

A)1,2and 3

B) 1and 2 only
C) 2 and 3 only
D) 1 only




TS1/68

* Which of the following statements about Bitcoin is/are correct?

1. It is a decentralized virtual currency
2. It is generated through complex computer software systems
3. The RBI recognized it as a legal tender in January 2016

Select the correct answer using the code given below:

A) 10only
B) 1and 2 only
C) 2 and 3 only
D)1.2&3




TS1/69

 Hindustan Aeronautics Ltd handed over the first two
indigenously designed and manufactured light combat aircrafts
to the Indian Airforce in 2016. What is the name of these new
combat aircrafts.

A) Maruti
B) Guard
C) Tejas
D) Eagle




TS1/70

* Consider the following statements about a famous football
player:

“ He was diagnosed with growth hormone deficiency during his
childhood but went on to win three European Golden Shoes in
his career

A) Andres Iniesta

B) Lionel Messi

C) Cristiano Ronald

D) Zinedine Zidane




TS1/7

* Which of the following statements is/are correct?

1. In June 2016, the LIGO group of scientists announced the
detection of a second set of gravitational waves

2. Gravitational waves were generated due to merger of two
blackholes at about 1.4 billion light-years distant

3. Gravitational waves were inserted due to collision of two

white dwarf stars at about 14 billion light-years distant.

Select the correct answer using the code given below:

A) 10only

B) 1and 2 only
C) 2 and 3 only
D) 1,2 and 3




TS1/72

* Which one of the following is not an Inter-Services
establishment?

A) Officers Training Institute

B) National Defence Academy

C) National Defence College

D) Armed Forces Medical College




TS1/73

* Which one of the following is a Peacetime Gallantry Award?

A) Shaurya Chakra
B) Vir Chakra

C) Yudh Seva Chakra
D) Param Vir Chakra




TS1/74

* The Headquarters of the Southern Naval Command of the
Indian Navy is located at which one of the following places?

A) Karwar

B) Kochi

C) Thiruvanthapuram

D) Chennai




TS1/75

» Match List I with List IT and select the correct answer using the
code given below:

LIST I LIST II

(Event) (Year)
a) Rowlatt Act 1. 1922
b) Salt March 2. 1931
¢) Chauri-Chura Incident 3.1930
d) Second Round Table 4.1919

Conference

Code:
)
)
)
)




TS1/76

* Consider the following statements about the Salt March:

1. The Salt March was deliberately ignored by European Media
2. The Salt March was widely covered by American & European
press

3. The Salt March was the first nationalist activity in which
women participated in large number

4. The Salt March impressed upon the British the urgent need

to devolve more powers to Indians
Which of the statements given above are correct?

A) 1,2 and 4

B) 2,3. and 4
C) 3and 4 only
D) 2 and 3 only




TS1/77

* In the elections to the provincial legislatures in 1937 in British
India

1. Only about 10 to 12 percent of the population had the right to
vote

2. the untouchables had no right to vote

3. The congress won an absolute majority in five out of eleven
provinces

4. The Muslims League won more than 8o percent of seats
reserved for Muslims

Select the correct answer using the code given below:

A)1,3and 4
B) 1and 4 only

C) 1and 3 only
D) 2,3and 4




TS1/78

* Which of the following statements about the social base of the
Arya Samaj in British India is/are correct?

1. [t was located mainly in Punjab and western Uttar Pradesh.
2. [t mainly comprised the trading castes
3. It was much more limited than that of Brahmo Samaj

Select the correct answer using the code given below:

A) 1and 2 only
B) 2 and 3 only
C) 1only

D) 1,2 and 3




TS1/79

* Who among the following is the author of the book, A
Comparison between Women and Men?

A) Pandita Ramabai

B) Sarojini Naidu

C) Tarabai Shinde

D) Rameshwari Nehru




TS1/80

* The fact that the planets move around the Sun, not in circles
but in ellipses was first demonstrated by

A) Galileo

B) Martin Luther

C) Johannes Kepler

D) Copernicus




TS1/81

* During the mid 19" century Industrial Revolution, the average
life span of workers in Manchester was

A) 17 years

B) 30 years

C) 55 years

D) 62 years




TS1/82

* George Washington was made the Commander in Chief of the
American forces:

A) in December 1773, after the Boston Tea Party

B) At the First Continental Congress in September 1774
C) At the second Continental Congress in 1775

D) By the Continental Congress at the Declaration of
Independence on 4™ July, 1776




TS1/83

 Alexander Kerensky was

A) The head of the Provisional Government in Russia before
the October Revolution

B) a close confidant of Lenin, with whose help the Czar was
dethroned

C) the head of the Czars’ Army

D) an advisor of Joseph Stalin




TS1/84

* Which of the following statements are correct about ‘Saakshar
Bharat Scheme’?1. It is a centrally sponsored scheme which was
launched during the " Five year plan
2. The scheme applies to women in particular and
disadvantaged groups in general
3. The scheme applies to persons above the age of 10 years
4. The scheme is anchored with Panchayati Raj Institutions and
Local Self Government

Select the correct answer using the code given below:

A)1,2and 3

B) 2,3and 4
C)1,2and 4

D) 1,3and 4




TS1/85

* Which of the following statements relating to the powers of the
President of India is/are correct?

1. The executive power of the Union shall be vested in the
President

2. The executive power shall be exercised by the President only
through officers subordinate to him

3. The Supreme command of the defence forces of the Union
shall be vested in the President.

Select the correct answer using the code given below:

A)1,2and 3
B) 1and 2
C)1and 3
D) 3 only




TS1/86

* Which one of the following indices is now used by the RBI to
measure the rate of inflation inlmdia

A) NASDAQ Index

B) BSE Index
C) Consumer Price Index

D) Wholesale Price Index




TS1/87

* Which of the following is an indicator of air pollution?

A) Lichens
B) Algae
C) Bryophytes

D) Fungi




TS1/88
» Carbon monoxide poisoning can be cured by
A) Eating butter and Ghee

B) Drinking lemon-water

C) Taking Vitamin B tablet

D) Exposing the affected person to fresh oxygen




TS1/89

* Which of the following fuels causes minimum environmental
pollution

A) Coal

B) Hydrogen

C) Liquified gas/air

D) Aviation Fuel




TS1/90

e ‘Green House Effect’ means

A) Cultivation of flowers in green house to conserve heat

B) Trapping of solar energy due to carbon dioxide gases

C) Trapping of solar energy by green plants during day

D) Increase of heat due to atmospheric pollution




TS1/91

* The Most Favored Nation (MFN) clause under WTO regime is
based on the principle of

A) non-discrimination between nations

B) discrimination between nations

C) differential treatment between locals and foreigners

D) uniform tariff across commodities




TS1/92

* Goods and Service Tax in India is NOT a

A) Gross value Tax

B) Value-added tax

C) Consumption tax

D) Destination based tax




TS1/93

* Amartya Sen was awarded the Noble Prize for his contribution
to

A) Monetary Economics

B) Welfare Economics
C) Environmental Economics

D) Development Economics




TS1/94

* The rank of captain of the Indian Navy is equivalent to which
one of the following:

A) Captain of Indian Army

B) Group Captain in the Indian Air Force
C) Lieutenant Colonel of the Indian Army

D) Wing Commander of Indian Air Force




TS1/95

* Which one of the following statements is correct in relation to
the Indian Air Force?

A) It has bases in many friendly countries

B) It does not carry out joint exercises with any country

C) It has separate Maintenance Command

D) No officer has ever been elevated to the rank of Marshal of
the Indian Air Force




T1/96

* BREXIT refers to the Great Britain leaving which of the
following

A) International Monetary Fund

B) Commonwealth
C) World Trade Organization

D) European Union




TS1/97

* Which one of the following statements about the All India
Depressed Classes Association is not correct?

A) The All India Depressed Classes Association was formed in
Nagpur with M C Rajah as its first elected President

B) The All India Depressed Classes Association was not
attended by Dr. B R Ambedkar in 1926

C) Ambedkar resigned from All India Depressed Classes
Association and formed his own All India Depressed Classes
Congress in 1930

D) The All India Depressed Classes Association favored
Ambedkar’s demand for separate electorate for the depressed
classes




TS1/98

* Which one of the following statements about the Justice Party
is NOT correct?

A) It clamored for the same kind of separate communal
representation for the Non-Brahmins as had been granted to
the Muslims by the Morley-Minto Reforms

B) It was patronized mainly by richer landowning and urban
middle class Non-Brahmins

C) It succeeded in getting the provision for 28 reserved seats for
the Non-Brahmins in Montagu-Chelmsford Reforms

D) It supported the call given by the Congress to boycott
elections in 1920
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* The Ryotwari experiment in land revenue was started by

A) Henry Dundas
B) Alexander Reed
C) David Ricardo

D) Mountstuart Elphinstone
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* Which of the statements is/are correct regarding the Preamble
of the Indian Constitution?

1. The Preamble by itself is not enforceable in a court of law

2. The Preamble states the objectives which the constitute seeks
to establish & Promote welfare

3. The Preamble indicates the source from which the
Constitution derives its authority

Select the correct answer using the code given below

A)1,2and 3

B) 1and 2 only
C) 1and 3 only
D) 2 only
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